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QUESTION 1

A virtual server is defined per the charts. The last five client connections were to members C, D, A, B, B. Given the
conditions shown in the above graphic, if a client with IP address 205.12.45.52 opens a connection to the virtual server,
which member will be used for the connection?

VS Web Pool Settings Web Pool Parameters

10.10.20.100:80

Destination: Lead Balancing

Priority Group

Least Connections

Profiles: TCR, HTTR Arctivatiom: Less Than 2
iRules: None Manitor: Custom_HTTP
Default Pool:|Web Pool

Persistence: |None

Web Pool Member Statistics and Settlngs

Member |Member |Dulstanding [Current
Member Ratio Pricrity  |Reguests Connections |Status
A 172,16.20.1:80 3 5 < 56 Unavailable
B: 172.16.20.2:80 3 = - a3 Available
Cr 172.16.20.3:80 3 5 4 54 Unavailable
D: 172.16.20.4:80 1 3 22 Available
E: 172.15.20.5:80 1 1 1 18 Available

A.172.16.20.1:80
B. 172.16.20.2:80
C.172.16.20.3:80
D.172.16.20.4:80
E. 172.16.20.5:80

Correct Answer: D

QUESTION 2

Which three iRule events are likely to be seen in iRules designed to select a pool for load balancing? (Choose 3)
A. CLIENT_DATA

B. SERVER_DATA

C. HTTP_REQUEST

D. HTTP_RESPONSE

E. CLIENT_ACCEPTED
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F. SERVER_SELECTED
G. SERVER_CONNECTED

Correct Answer: ACE

QUESTION 3

Which statement is true concerning iRule events?

A. All iRule events relate to HTTP processes.

B. All client traffic has data that could be used to trigger iRule events.

C. All iRule events are appropriate at any point in the client-server communication.

D. If an iRule references an event that doesn\\'t occur during the client\\'s communication, the client\\'s connection will
be terminated prematurely.

Correct Answer: B

QUESTION 4

Where is the load-balancing mode specified?
A. within the pool definition

B. within the node definition

C. within the virtual server definition

D. within the pool member definition

Correct Answer: A

QUESTION 5
A virtual server is defined per the charts. The last five client connections were to members C, D, A, B, B. Given the

conditions shown in the above graphic, if a client with IP address 205.12.45.52 opens a connection to the virtual server,
which member will be used for the connection?
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WS Web Pool Settings

Web Pool Parameters

Destination:

10.10.20.100:80

Lead Balancing

Least Connactions

Priority Group

Profiles: TCR, HTTR Artivation: Less Than 2
iRules: None Manitor: Custom_HTTR
Default Pool:|Web Pool
Persistence: |None
Web Pool Member Statistics and Settmgs
Member |Member |Dutstanding [Current
Member Ratio Briority |Requests Connections |Status
At 172,16.20.1:80 3 5 =+ 56 Unavailable
B: 172.16.20.2:80 3 = - a3 Available
Cr 172.16.20.3:80 3 5 4 54 Unavailable
D: 172.16.20.4:80 1 3 1 22 Available
E: 172.15.20.5:80 1 1 1 18 Available

A.172.16.20.1:80

B. 172.16.20.2:80

C.172.16.20.3:80

D.172.16.20.4:80

E. 172.16.20.5:80

Correct Answer: D
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